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(1) N.B.:-Question no 1 is compulisory.
(2) Attempt any THREE questions out of remaining FIVE question

Q.I)a) If Ais an eigen value of matrix A, then prove’ tha' &,

b)

d)

of A" and hence find the eigen values

2 1 =2
A=l0 2 4
0 0 3

f(x) = kx?(1 —x3%),0 <x<

X.

A machine is set to DX

standard deviation 0.2 en
machine gave an ave age
fulfilling the purp()se‘? '

Write the du@: fthe g
M1n1mlze z

()

fandomly chosen sailors are in inches (8)
The helghts of ten randomly chosen soldiers

(6)
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b)  Using Gauss Divergence Theorem, evaluate ﬂf . ;143

transformations  4x” +3y” +122° —8xy+

Q.4a)

The number of accidents in a year

Sy

b)

Q5a)

\gg\ influenza and out of them 24 persons were
za. Out of these were not administered the new

pel Nonsfwere not affected by influenza. Use Chi-square
to-find out whether the new drug is effective or not?
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Q.62) Evaluate [x+2 V)% +(x = 2)dy + (y - 2)dz where C
C

the triangle with verticeg (2.0,0),(0,3,0),(0,0,6) oriented. i
clockwise direction.

b)  Ten individuals are chosen at random from

heights are found to be (inches): 63, 63,666
In the light of the data, discuss the sug :
in the population is 66 inches,
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